EARAROBREBRT —5 XN—ZXBISH—F 20224628108 (R 17EXH4H

Il 5 SZ—is C275t BRI
[#&%] 17&:1,000,000 §  237&:400,000 3 ~ 337%&:250,000 "  43#%&:150,000 3 , 5 & :100,000 M
B\ % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
sy S 4 | BHE 1:13.0 1-1 37.7| - 1 501 | BEEL ()
101111 | ¥—9HvEY b = 56.0 ) “n | @B vy
SRVIRTAvIAUT— BNAS54 RID— SvE—iis
sy =— i 4 | KHEZ 1:13.7 6-4 37.7| - 2 | 443 | AR (KH)
1 : BBEERS =P 80 3 i) Cn |EOES
RiXAY 3w LYY B:9—E—-V—-V BatiE
—_—— s LUIEER 14, - . - INEFFERE (/)
" : REESE=VDr; R R I P E e okc
R:O—IVRYY T B:RARTLET EvIUy RIT7—LA
S eI EE] 3 - - mAdE (CKH)
41814 b—EY NRY— 5 ED 1'(11‘;'5 2| B0 ¢ (4:38) HIREER
RigAf (LI V R B:YY—TIF7U— 7 | | B
= s~,T Y EREER 14, - . - BRI (KH)
sBY 3| SAvIvYIL s R [ Rl b T [owes
R:VvRIVIA B:SAUFUIa BEXFERS
o Lo o 7 | HEEX 1:14.6 14-14  |37.4| - 4 | 472 | LEEER (KH)
6(8]13| T¥ R4 TVO—R " 56.0 E) @) |EBER
RiAVIF7AT7 B:T7vyarIb =7 =LY
< o . mEs 14, - . - BREE= (K#H)
- 5 | FLYFNO-X # 5 | e 1(/14;_)6 33 38.9 3 (53; e
RiVvRIVIA B:ITVYFAIIR IRER 45
W 75 o5 | REF— 1:14.9 7-8 38.7| - 8 | 457 |3rfefm (KH)
8l5|7|FvIT7SH 56.0 a1/ () | IMEARRE
RETIRRT—IVYF— B:HISFa1—F 4 RA f—
S S5 s 5 | HEES 1:15.3 7-9 9.1 - 5 466 | EET0ME (KH)
97| n|LF/T=5 %53.0 @ L | EESH
R:vEILDFr— B:Fho—3 BRBUS
) F5 S i 5 | BOR 1:15.3 5-7 39.3| - 1M | 470 |RE#@X KH)
100 9| AVFTAF=—F %530 Cl5) o |.@ FxL7—
RRTT—RIVATT—h B:PRYTPYRRY— BEAM JxLII—
o s — SEH :15. - . - EFHZ (KFF)
1188 10| /NVAR=7— 5 1(91?:? R b ig? RS
ALY IVIR—5— B:ZANVA NEis
o4 | RESD 1:15.6 4-5 9.7 - 9 | 494 |BRE—R (KH)
12/5| 8 | RAARANL 5.0 (a 1/4) w) | EET
RiRFIZIF—R BRRAIEX HFAVRT YR
s~ an BIHES :16. - . - TEERAIK (KH)
130 5 | UV YT AK—L i 4 | DEE 1(146)4 1212 |39.7 14 (4+624; s K5
RTFTUBARAIVR B RAFYNART YT TURBUS
53 = 46 | AT 1:16.6 -1 401 — | 10 | 516 |AREE KH)
14/ 7112| 7¥<BFT1 =2 56.0 ) (3 |BRE—
R:F4—FTVSVYF B:/IWTUVH W B
@ 11— —&BIRfI
1J—3—
20—7F—
30—3— 1,14,2,8,9,6,(7,11),10,3,12,5,4,13
4J—F— 1,14,2,6, (3,8),9,7,11,10,12,5,4,13
@ Ih\R=E
B B 1 320 | | 94 R 1-6 340M = 1-4 580F9 3EE 1-4-6 24,2504
B ks 1 160M4 1-4 6,020M =] 1-4 1,280 3iEH 1-6-4 66,910M
6 150M 4-6 7,850 F5 & 1-6 690/
4 1,570H B8 1-6 1,130

ABIC OV TRUTEREERRODDZE. THRIIZEL.



